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14.

Consider the following piece of code:

public class A
{

private int a;

public int getA() {
return a;

public void increaseA(int m) {
a += m;

stem. The successful proof of
concept system was single-threaded. The code must no a multi-threaded system.

3) You are responsible for
Write yg i . ftion of this class (it must have the same public methods, but the internal
ibility). [2 Marks]

M-safe. [1 Mark]
reasonable solution. [1 Mark]
Explain why y s the best of these choices. [1 Mark]

4) During the refactoring of the system, it is decided that this class will need at least one more method: int
getInvocationCount (). This method returns the number of times increaseA has been called.
Write a new version (do not just amend your previous answer) of this class that supports this functionality. [1
Mark]
Explain why you did, or did not, need to make substantial changes to your answer given in (3) [1 Mark]
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18.

You are working for a company that produces software for the medical profession. The company is currently
working on a wall mounted touch-screen device for radiologists which allows them to view high resolution X-Ray
images. The images are loaded from the hospital’s image file server. Typically, a group of radiologists view a
group of related images in a batch, and move to a different batch of images later.

Two of the requirements of this system are that it must be available 24x7, and it should be responsive.

Initial trials of the system showed that the strategy of loading the imag
but after two days of simulated use, the system would run out of memor quick fix to the problem

was to load the images from the file store each time they were used. Howev ustratingly
slow.
Your manager has explained that just adding more megg tem is not solutiol that is available to you.

Propose and justify a solution to this problem

Describe how you would write your soluti gliiped the minimum number of changes to the current
code, and was suitable for future develop
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